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10.

11,

Imme@ately after 08 g the booklet read Instructions carefully, mentioned
and ifack page of the Question Booklet and do not open the
he question booklet, unless asked by the Invigilator.

§o!l No., Answer-Sheet No., in the specified places

 all entries in the OMR Answer-Shest as per the given

' instructions otherwise Answer-Sheet will not be evaluated.

After Opening the seal, ensdré,that the Question Booklet

contains total no. of pages as mentioned above and printing

of all the 150 questions Is proper. If any discrepancy Is found,
inform the invigilator within 15 minutes and get the correct’
bookiet, - )

. While answering the question from the Question Booklet, for each question

choose the correct/most appropriate options out of four options given,
as answer and darken the circle provided against that option in the OMR
Answer Sheet, bearing the same serial number of the question. Darken
the circle only with Black or Biue ball point pen.

. Darken the circle of correct answer properly otherwise answers

will not be evaluated. The candidate will be fully responsible for .

. There are 150 objective type questions in this Question

Booklet. 1 mark is allotted for each correct answer and %
mark will be deducted for each wrong Answer.. .

. Do not write anything anywhere in the Question Booklet and the
. Answer-Sheet except makin

r entries in the specified places,
otherwise OMR sheel will not'be evaluated. . .

. After completion of the examination, only OMR Answer-Sheet and

cover page.of Question Booklet is to be handed over to the
Invigilator. Carbon copy of the Answer-Sheet and Question Booklet
may be taken away by the examinee.

This Question Paper consists of Parts namely ;-

1) Accounts Related Knowledge 1 - 30
2) Mathematics and Logic . 31 - 50
3) Computer Related Knowledge 81 - 65
4) Hindi Language 66 ~ 75
§) English Language . 76 ~ 85
6) General Knowledge 86 ~ 125
‘7) Current Affairs 126 ~ 140
8) Knowledge of States 141 ~ 180

In case of any ambiguity in English version the Hindi version shall
be considered authentic.




-
Q
™y

-

Ml
P

2 - 0712/NG - GB/RCE - M

Set-A



ACCOUNTS RELATED KNOWLEDGE
1. Atthe time of preparing Final Account

of a firm, the earned income is
Rs. 1,000 only will be entered in the

(A) Debit side of Profit and Loss
Account
(B) Liabilities side of Balance Sheet

(C) Credit side of P/L Account and
assets side of Balance Sheet

(D) Debit side of P/L Account and
assets side of Balance sheet

2. Cheque receivedifrom ‘B for Rs. 5, 000/-,
entry will be made

(A) Debit side in the cash book ‘
(B) Credit side in the cash

. (C) Both side of cash bpo

(D) No entry made in @h book
3. Tri Column Cas@]cludes

(A) Cash column
(B) Bank column
(C) Discount column

(D) All above column

0712/NG - GB/RCE - M

T grEdt e
1. T B &1 ifm @ s awy, w6
3uista 3™ 1,000 . i wfifes nf

(A) =T BT T ¥ SR

(B) T2 % arfreq war |

(C) =1 wmaT ¥ e w fr ¥ gy
T AN,

(D) i & e w fum %

ueT |
.. O
\ﬁ‘@ 5,000/- 1 3 1wt 311 A 1t
B |

(A) TrFg o1&t & foeperT 8
(B) Teg o1&t o G A
(© ) maﬁ%aﬁsﬁt

(D) sk w&t & RAfe ey

3. Tt Tepg o) & g 2
(A) Tehg 1 HTem
(B) % &1 Ferm
(C) =<t =1 wEH
(D) 39t @l =1 Hem

W & @ for wum
Space for Rough Work
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4. Necessary column in the Tri column 4, Pl dere e § e
cash book is ' ‘
(A) Bank and Debtors column | (A) ¥k FTem T ITER FeW
(B) Bank, Discount and Purchase (B) e, war wH A Fom
column A
(C) Bank, Discount and Cash column’ (C) ¥, 51 T kg FEw
(D) Bank, Cash and Creditors column (D) &%, (g T& IR HTeTH
5. Debit balance of Bank is 5,000/ which 5. % =1 e AW 5,000/~ 2 | Bt T
entry will be made in the Tri column T ufsd et
Cash book .
(A) In the debit side Bank colurn of (A) Tg ot e o
cash book - .
(B) In the credit side Bank column of - (B) @% GUTHH o o o
cash book EECUN
(C) In the debit side cash column of @W &t % faeper g wrem #
cash book

(D) In the credit side cash column ofc% (D) e T8 & wuEH OFE M A

cash book
(s
6. Capital at the beginning ef t@; 6. Iy # dsft 20,200 %., 99 % o= |
| g &5 17,700%., =7t o 1 STETT 4,000%.

r Rs. 17,700, dr, r ) . . )

| zz:r Rss. 41,0013(,)?0,3d e Current ry::: amaaaétﬁmﬁ 3,500%. Bt s o A
Rs. 3,500 then capmoduced inthe | T oS erfifaa doft B0ft

current year are

(A) 7,500 _ (A) 7,500

(B) 5,000 - A (B) 5,000

(C) 3,500 ‘ : - (C) 3,500

(D) None of the above (D) 3wl § § s A

W wE % forg v
Space for Rough Work
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T Calcylate from the following 7. ﬁwwﬁﬁmw |
informations :
Opening capital : e gsh
Capital at the end of the year ¥ 20,500 e L 20,500 %
Additional capital introduced i afife St 2,500%
in current year 32,500
Drawings of currentyear % 3,500 - anga # s 3,500%
Profit earned during the year % 1,500 wTey e # arffa wmw 1,500%
(A) % 14,000 (A) 14,0003
(B) % 16,000 |
(C) % 18,000
(D) 20,000
*
8. Calculate - from the following %\am\’sﬁ@ T IR |
informations :
Additional capital introduced in th wTeg oY s st
current year
Capital at the beginning of Q ¥ & Ty Eﬁ?*{sﬁ 20,200%
the year M Q),zoo f :
Capital at the end of t 17,700 ELokco emr 1 geht 17,700 %
Drawings in c'urrg% % 4,000 e ad f ammer 4,000%
Loss of the current y&ar ¥ 3,500 e 9 Ty ' 3,500%
(A) 5,000 (A) 5,000%
(B) 7,000 , | (B) 7,000%
(C) 8,000 - (C) 8,000%
(D) ¥ 10,000 ~ (D) 10,000%
Space for Rough Work
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9. The position of club at the beginning
of an accounting year was as follow :

Asset ¥ 37,180 and subscription
received in advance X 5,000. .

The opening éapital fund is

(A) ¥ 32,180

(B) ¥ 37,180

(C) ¥ 42,180

(D) ¥ 5,000

10. Profit and Loss should be distributed
amongst the partners

(A) In the ratio of capital

(B) Equally _

(C) As per partnership deed
(D) None of these

11. Meaning of Net Assets is

(A) Total Assets — Internal Liat@‘
(B) Total Assets — Capital+ _ s |
u

(C) Total Assets — Own
(D) Total Assets —

12. The Basic As.sumptio&

(A) Separate Business
Assumption

(B) Going concern Assumption
(C) Money Measurement Assumption

ity

‘Accounting is
entity

(D) Above all

- 0712/NG - GB/RCE - M

9. Tt vwe = & gy o us Foie R
feafe Fremgam o
grafat 37,180 T @ AW Wi SI9EH
5,000
(A) 32,180%
(B) 37,180 %
(C) 42,180%
(D) 5,000%

10. @EER | &wmﬁmm
T
(A)@T’W3
+ (B) - R

T TorE % STER

O T 8 WIS el

11, 3 SrOfd o7 ST R
(A) T grafear - T Qe
(B) & Trafcel - gSft +
(C) Tt Trufen ~ Tanfiat =Y awa
(D) F GrARRT ~ SER i T

12. @A hl SR TI=IAT 2
(A) SR ) Yereh; 3ohr$ ol ATl

(B) =] SATIR <kl HIRIAT
(C) &1 AI9=- <Rl A=Al
(D) 3w uft

W ®E % fore e
Space for Rough Work
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13. A Manager is entitled to receive 13, UF Uy FHNE 2 F 972 99 IS
commission @ 5% on net profit after mms%mqmﬁwaﬁﬁmﬂ%]mﬁ
charging such commission. Gross
 Profit of the firm is Rs. 90,000 and F1HH - 90,000 7. ® o
selling - expenses  amounted 1 58,500 . ® | IWHI HHIYH M
Rs. 58,500, his commission will be
(A) Rs. 3,150 (A) 3,150%.
(B) Rs. 1,657.89 (B) 1,657.89%.
(C) Rs. 1,575 (C) 1,575%.
(D) Rs. 1,500 (D) 1,500§. .
14. Costing of Rs. 10,000 were damaged. 14. ;@ e afames 8w | s
Insurance company admitted claim for N 9,000 %. 2ra R B, % &
Rs. 9,000 only, Profit and Loss account .
wil d(gbi(t) ' ' BT e Sfie g
(A) Rs. 10,000 0 (A) 10,000%.
(B) Rs. 9,000 v (B) 9,000%.
(C) Rs. 1,000 . Q (C) 1,000%.
(D) Rs. 19,000 . 0 (D) 19,000%.
15. Closing stock of 000 is 15. AR % qef9e # 31f=m @ 90,000 .
given in the Trial e of the such o= ], sueht wfafse grfY
firm, entry will made in the 5
(A) Trading Account (A) TR @rar |
(B) Profit and Loss Account - (B) @™ BT @ A
(C) Balance Sheet ) g d
(D) All above (D) Wi wft o
% & & foro tam

Space for Rough Work
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16.  Double Entry System was introduced in

)
(C) India
)

(A) America
(B) Japan

(
(D) ltaly

- 0712/NG - GB/RCE - M.

16. R-ffe2 srore w5v armew gar on
(A) mafirt
- (B) SU™
(C) @
(D) seeft

17. % 91 91 @t w1 E 3u-fam ]

17. The sub-division of goods account is

(A) Machinery Account (A) T @
(B) Capital Account (B) dsht@mar
(C) Purchase Account (C) v

(D) Cash Account (D) W@

18. According ‘to the concept of F@ﬁ IR & U SR
conservation, the stock-in-trade is ;zm; 1 qeaied @ W I Y
valued at

(A) Cost price | O ) ST Y W

(B) Market price & ) ISR Hed T

(C) Cost or market price whu% * ) WRTG e WK Yoy S g A |
higher | . aﬁTeﬁ &

(D) Cost or market pric %Qﬂ/er is (D) TR YA AT qed A H @
lower | o

19 The existence of&( Reconciliation 19. &% wye R 1 fee @

statement is
(A) End of the year. (A) 98 T 317d T
" (B) For the particular date - (B) T Ffere fafy 3 forg
(C) Up to dissolution a business (C) ==Ew™ ¥ T TF
(D) All of the above. - (D) I wt
| o W ¥ forg T

Space for Rough Work
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20. On 31 March 2015 Bank Pass Book
show credit balance of Rs. 2,500. A
cheque issued before but not yet
presented Rs. 300. A cheque Rs.-500
sent to bank for collection but yet not
collected. Bank credited interest
~ Rs.100and debited Rs. 20 for expenses.
~ On 31 March 2015 the debit balance
according to cash book will be

(A) Rs. 2, 520
(B) Rs. 2,720
(C) Rs. 2,620
(D) Rs. 2,820

21. In the absence of partnership deed
interest on capital is given
(A) 6% per annum
(B) 9% per annum
(C) by any rate ¥

22. The amount of go@ paid by a

new partner

(D) by no rate

(A) For getting share in future profits
(B) For paying entry fees

(C) For paying capital |

(D) For having right on assets

0712/NG — GB/RCE ~ M

20. 31 T 2015 = F% v g% F 2,500 <.
1 T 99§ | 7 i S e i 300 7.
%9 RA T A Y ot rm % R
egd e R T | 500%. w13, S Fem i
U FA F A S o1 o @ FRew
T Fn T g | S I F 100 w.
e a0 = & 20 . e W R |
3191 2015 %) Vo 8 % Sram b

A9 g

(A) 2,520%
(B) 2,72@
B

, O

S,

820 %.

4

wHEa % a1ra. ¥ ft ) = e

e
(A) 6% i
(B) 9% =¥

(C) Fret i e @
(D) foreft oft o @ i

22. @H@?ﬂmwﬁﬁrmw%mm%

(A) el T & e um & R
(B) 3% yem % e

(C) I5h % g & forg

(D) wwftrit W st ur & R

T w1 & e v
Space for Rough Work
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23.

24.

25.

26.

Which one of the following International |
Accounting Standard is for Financial
Reporting of Interest in joint venture ?

(A) 1AS — 29
(B) 1AS - 30
(C) 1AS - 31
(D) 1AS —32

Joint Venture Account is
(A) Nominal Account
(B) Personal Account
(C) Real Account

(D) None of these

‘Discount on issue of debentures is .
(A) Fixed Assets
.(B) Current Assets
(C) Real Assets
(D). Fictitious Assets

same has notbeep
Cheque amounting, tO\NRs. 6,000 were
deposited in to the Bank, but not yet
collected. Show the bank balance as per
the Pass Book

(A) Rs. 20,000
(B) Rs. 28,000
(C) Rs. 96,000
(D) Rs. 1,02,000

23.

071 ZINé -~ GB/RCE-M

‘g 3usRn o R w1 forla yfoded’ &
fore s ST A B TR

(A) IAS - 29
(B) IAS - 30
(C) 1AS - 31
(D) IAS —32

24. TYF WEH WA T B
%A) THET G

26. ‘A’ % % @ra A IR Wk TE o AFER

40,000 %. 312 9 | 62,000 %. & % gree
& 1 o i St S 81 T, g A
=t 1 7€ for@ 8, 6,000 €. % <% ¥ °
T R TR, W ITRT S A o |
T g o IR o A €

(A) 20,000 %.

(B) 28,000%.

(C) 96,000%.
(D) 1,02,000%.

% wE % fom e
Space for Rough Work
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27.

28.

20.

30.

-11-

Trial balance disclose
(A) Errors of Omission
(B) Errors of Entries
(C) Errors of Principles
(D) Errors of Balance

Direct expenses are recorded in
(A) Trading Account

(B) Profit & Loss Account

(C) Balance Sheet

(D)kNone of these

Outstanding expenses in the Trial
Balance will be shown in

(A) Liabilities side of Balance Sheet
(B) Debit side of Trading Account
(C) Debit side of Profit & Loss Accoun

(D) Assets side of Balance Shee P

In a year capital in the e@ng

Rs. 80,000, capital in the ,000,

0712/NG - GB/RCE -~ M

27. qUE Yehe FAT 2

(A) e STRaTeh srpfigat
(B) wfafee st srapfigat
(C) Fafes srgrfat

(D) st ) aryrfat

28. Wam%@méi

(A) R @I
(B) @ &1 @mar

(C) forg

YR GTd & ez g 3
(C) @ T @ & 2fee ger &
(D) T2 & grafy ga o

30. W ¥ % yrew § Gt 80,000 %., a7 A

5t 90,000 %., ITTE 18,000 . Term o

drawings Rs. 18, ec ipital %H@ﬁﬁ?ﬂﬁﬂﬁ%ﬁS,OOO&ﬁﬁﬁﬁ
infroduced in the mid. & th&year Rs. 5,000

i ™ BT
then profit in the year
(A) Rs. 33,000 (A) 33,000%.
(B) Rs. 28,000 (B) 28,000%.
(C) Rs. 23,000 (C) 23,000%.
(D) None of above (D) I ¥ 8 =i

W @ o Tt e

Space for Rough Work
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31.

32.

33.

-12-

MATHEMATICS & LOGIC

A fraction becomes 223- if 1 is added to

both its numerator and denominator.

The same fraction becomes 1 if 1 'i's/

subtracted from both numerafor and
denominator. The fraction will be

(A)
(B)

(€)

(D)

;i ools Owwin

All bats are mammals. All mammals

0712/NG - GB/RCE-M

, T ot wek
%mﬁr——r'ésaisrsﬁtaaﬁﬁﬁh@qr
T 2 ﬁmar%la‘sﬁﬁm %ﬁ SILE

Hﬁwaﬂta?ﬁrﬁ@ 1aaﬁmam|
ar frt g

31.

(A)

®)

IR o1l win

bo)

(C)

L

’ ]
, &wﬁ TRE wAER) §1 a wEaiE % vE
have wings. Therefore, all bats have
wings. This argument is & , Teft TrrTTed % U ¥ 9% Ielid 8

(A) valid (A) 3=
(B) invalid (B) =1a%
(C) inconclusive (C) affera
(D) false (D) T8

If either algebra is ingonometry

is simple, Blbha ore 100% in
mathematics. If algebra was simple but
trigonometry was tuff, then Bibha had
scored -

(A) 100%
-(B) between 80% and 90 %

(C) less than 80%

(D) none of these

33. IR = fiemivm wwt & Bl T g,
faw e & 100% 3% @@ I
ssrifora Tt o uieg Presivrfifa e o,
Ta T ofe et .

" (A) 100%
(B) 80% a1 90% & &=
(C) 80% & A
(D) 38 | s 7.

% w1 % oo wm
Space for Rough Work
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34.

35.

What is the value of —— %=X
(2x+1)(6x-3)
when x = 9999 ? |

(A) 1111

(B) 3333

(C) 33

(D) 99

There are some benches in a class

room. If 4 students sit on each bench,

then 3 benches are left un-occupied.
However, if 3 students sit on each

- bench, 3 students are left standing.

- How 1 many students are there in the

5 'class ?

(D) 56

36.

(A) 36°
(B) 48
() 52

A bag contains 50p, 25p
in the ratio 5 : 9_:
Rs. 206. Then the n
each type will be

(A) 100, 400, 560
(B) 150, 400, 310
(C) 200, 360, 160
(D) 120, 560, 60

O%} 36

- 0712/NG - GB/RCE ~ M

4x® —x

34. ms—) ajwmﬁm,tﬂa

X = 9999 & ?
(A) 1111
(B) 3333
(C) 33

(D) 99

35. fowelt et § g5 A1 Tl g8 21 AR wh A

W 4 foremefl IR D 3 A @ w2

@émmélmmﬂ
7

(B) 48
(C) 52

(D) 56

36. WA 50 9], 25 W qur 104 F

R 519 : 4 % wrguma § W@ T R R
U 5T 206 F. R a0 it Rl Y
&I HU: B

(A) 100, 400, 560

(B) 150, 400, 310

(C) 200, 360, 160

(D) 120, 560, 60

W W % forn e
Space for Rough Work



- 37. The cost price of 20 articles |s the

0712/NG - GB/RCE - M

37. aR 20 Fegelt 1w v x TG A

same as the selling price of x articles. - fsh Bra HUER% AT N 25% & A X
If the profit is 25% then the value Qf X is} FHTHH gﬁrn s : | |
(A) 12 T @12

(B) 15 1(B) 15

(C) 16 (C) 16

(D) 24 (D) 24

38. If(a+b):(b+c):(c+a)=6:7:8and 38. afk(a+b):( (c+a)=6:7:8auW

a+b+c =14 then the value of c is a+b+ @mmﬁm

(A) 10 (A)

(B) 9 i 9

©)8 0®8

(D) 6 (D) &

: .j ,

39. |f Sisodia is. CM, then Sis&'
*

famous. Sisodia is not CM, JIherefore,

39. aRk R CM R, 7o Refen wRg #)
e CM &t R safer, Refean wite

Sisodia is not This 76 2 7 W 2

assumption is \

(A) valid (A) 39

(B) invalid‘ | (B) 3y

(C) inconclusive (C) =ifftia

(D) none of these (D) ¥ | FI T
R % % forg v
Space for Rough Work



40.

41.

42,

Following statements :

‘Rupa and Divya will not both be
elected’

‘Rupa and Divya willk both' not be
elected’ are

(A) equivalent

(B) different

(C) almost same
(D) almost different

A watch is one minute slow at 1.00 pm
on Tuesdayand two minute fastat1 .00pm
on Thursday. When did it show the
correcttime ? -

(A) 1.00 am on Wednesday
(B) 5.00 am on Wednesday
(C) 1.00 pm on Wednesday

(D) 5.00 pm on Wednesday \Q"

Sunil is older than
10 years, four yea

was

41,

0712/NG - GB/RCE -~ M

40. =1 % :

1 e fee T A Pt S
o e R 2w a8

(A) ged
(B) fir=1
(C) @t gur
(D) s =

YA G5 1.00
O ) IR Go§ 5.00 &
 (C) TR AR 1.00 7
(D) J¥aR I 5.00 ==

42. e s 3 10 =¥ w1 8) 9w 9 g

ofter <1 oy sy & g oft) e s

:)V::s:zn?ch:i:lSsuvrﬁfd Zshz:d i S 61 A 1T T
(A) 22yrs, 12 yrs (A) 2299, 12 ¢
(B) 24 yrs, 14 yrs (B) 24 =¥, 14 o
(C) 14yrs, 04 yrs (C) 1494, 04 =
(D) 30yrs, 20 yrs (D) 30 av, 20 =
W %1 & for e

Space for Rough Work
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44,

Choose correct option :

Statement: Some page is paper
Some paper is.
magazine: _

All magazine are books

Conclusion :i) Some books are
magazine

ii) ' Some books are paper

iii). Some magazine are

page
iv) Some page are
magazine -
(A) only (ii) and (i) are true
(B) only (ii) and (iv) are true
(C) only (i) and (iv) are true
(D) none of the above are true

0712/NG ~ GB/RCE - M

43. e ferea 99 :
U :@@WW% ,
FS Y Asi @

ii) %o fras Y 2

a‘»aa u)aﬂt (iii) ‘H%‘T%

Faa (i) R (iv) T8

(C)%h—elﬁ (i) 3R (iv) = 2
(D) T @ =g T & R

44, it vzt e o W o @ Sl
35 qEET. FER1: 6, 5, 7, 10 3R 128H0
¥ e O oo B AT R o ue

they toll togetherin o ur excluding i o Ty R IR s At e A
the one at the start ? a1 S Bve fen s '
(A) 7 | (A) 7
(B) 8 (B) 8.
©) 9 ©)9
(D) 11 (D) 11
T W % forg wam

Space for Rough Work
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M+3.,m2Mm-n_, em+n+3 _, an+1 v m+3,,A2m-n_, =m+n+3 _, an+l
45. The value of 2 X3 " x5"" X6 45. v 22 X8 7 T XE oo
6™ x10" 3 x15" 6™ 'x10"3x15™
is equal to wm ‘
(A) 2™ (A) 2m
(B) 0 (B) 0
€)1 © 1
(D) 2m3ns3 (D) 2m3n53
~46. The value of x on simplifying
- x=2|x|=-8is
{(A) —1o0r3
(B) 10r=3
(C)-1or-3
(D)-1or3
. LS 1 e 1 1
47. f4*+Y= zand 4x-¥ = @e 47. A4 = g Y= o dxaly
value of xand y are % F A - '
(A)X=_1’y=s® | (A) x==1,y=—1%
(B) x=1,y=- 14 (B) x=1,y=- %
i C) x= o yeo
(C) X’=“2",Y="1 ( )x""zlY"'—
1 1
.(D)x=~2—,y=v-—-)é‘ (D)X=2,y=—-}é
w wd ¥ g ww
Space for Rough Work
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48. The difference between two numberis 20.
If 7 is added to large number then this
sum becomes double of small number.
These numbers are

(A) 47,27
(B) 57, 37
() 27,7

(D) 37,17

Direction for Q. 49 & 50.

A, B, C, D and E are five integers. When
written in the ascending order of values,
the difference between any two adjacent
integers is 4. D is the greatest and A is
the least. Bis greater than E but less than C.
The sum of the integers is edual to E.
Arun says the value of Ais—7or—9.

0712/NG — GB/RCE ~ M

48. T BRI 1 <N 20 B, IR s e U
7 <ive feun ST Y 98 anTeet B8 HE H
T 81 ST 3| A WA 2

(A) 47,27
(B) 57, 37
(C) 27,7

(D) 37,17

e fyawor w. 49 @i 50.
A, B, C, D B ufa quife 2 | 51 3=
mmﬁﬁﬁ&aamw
a1 e 4 1)D o T B e A
W%@H%IB,E@%IWC@I
| &t qoriehi =1 AT E 6 WH 3 S R)
R AR AR -7 -98)

49. The greatest number has the value @9. Fod &1 YUITeh ST HH AT BT 7
A9 \Q (A) 9

(B) -5 5 (B) -5
©) 3 : @ ©) 3
(D)7 \Q (D) 7
50.  The product of the ir@grs is 50. @ft gorfent =1 TUHwE &
(A) — 945 (A) —945
(B) 945 (B) 945
(C) 315 (C) 315
(D) None of the above (D) 3Wwa & & AS T
W wE ok Ruwem
Space for Rough Work
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COMPUTER RELATED KNOWLEDGE
'51. Which shortcut key is used for print
preview ? |
(A) F2
(B) Ctrl + F2
(C) Ctrl +F1

(D) Ctrl+P

52. Toinsert nev(r worksheet
(A) Ctrl + Tab
(B) Ctrl + Space
(C) Alt + Shift + F1
(D) Shift + Space

53. Which key is used to view slide
- show ?
(A) F1 '
(B) F2 ‘ 0Q
.’ .
(C) F4 _ :
(D)-F5 j

54. The meéhiﬂgful&'is known as

0712/NG ~ GB/RCE - M

HPYR FaEh 7
51. B fidfia % fow =9 @1 shorteut key
ELRT G
(A) F2
(B) Ctrl + F2
(C) Ctrl +F1
(D) Ctrl+ P

52. it o vite Sired ¥ e
(A) Ctr
(B) paéev

Shift + F1
’\@g)Shift + Space
lide show aﬁé@ﬁ%maﬁqmaﬁ
ﬁﬂmeﬁm% ?
(A) F1
(B) F2
(C) F4
(D) F5

54 mmaﬁmm%

(A) Data (A) st
(B) Information’ (B) gz
(C) Knowledge (C) 7=
(D) Record (D) wfrerg
W o * forg v
Space for Rough Work
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58.

56.

57.

58.

Which of the following data storage
component helps the raw as well
processed data to be stored for future
usage?

(A) CPU

(B) .Memory

(C) ALU

(D) CU

The speed of super computers are
measured in

(A) FLOPS
(B) DLOPS
(C) BYTE
(D) BITS

Which of the following is not the part of
E-mail address ?
(A) Period ()

(B) Atthe rate symbol (@)
(C) Blank space (space) *
I(D) Underscore (_) -

Abuse messaging&&s to send

Q
&>

0712/NG — GB/RCE - M

55. Treafafea s @ @ ar etfwer wero whisy
% fore e of woipa Arteel =) wia

wATR?

(A) CPU
(B) Memory
(C) ALU
(D) CU

56. YW F hI Tl A1q &

(A) FLOI@
(B) '
, ©

%m

ﬁﬁaﬁqmi—ﬁawwmq‘ﬁﬁ
(A)‘ﬂﬁq@(-),

(B) W3R U (@)
(C) T bl (space)
(D) sFeT&rR ()

58. wf&?aﬁ@aﬁaﬁ%ﬁmﬁ@amrﬂ

unsolicited ‘is EINT BT @
(A) Phishing (A) Phishing
(B) Spam (B) Spam
(C) Worm (C) Worm '
(D) Malware (D) Malware
s wE % forg v
‘Space for Rough Work
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59, Wh_ich of the following is not a 59. T A HAEI OE S AR L 7

search-engine ?
(A) Yahoo- (A) 18
(B) Alta Vista (B) ¥t fawan
(C) Google (C) T
(D) HTML (D) @A wa

60. The computer chip is made of 60. EFQI\Z{ Fa s
(A) Silica , (A)
(B) Iron oxide (B) 3 [
(C) Chromium (@
(D) Silicon - . '(D’ ;

61.  Choose the odd one out H 8 o7a () # srem

“(A) UNIX (A) UNIX
© (B) XENIX \Q (B) XENIX
(C) MS-DOS : 0 | (C) MS-DOS
(D) WINDOWS ® ‘ (D) WINDOWS
62. E-mail client isth&@ of 62. §-ie Femée el R 2 7
~ (A) MS-OUTLOOK ~ (A) MS-OUTLOOK
(B): MS-WORD (B) MS-WORD
(C) MS-EXCEL ~ (C) MS-EXCEL
(D) MS-ACCESS . (D) MS-ACCESS
% & & fore wom

Space for Rough Work
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63. Whatis U-tubef
(A) Video sharing web-site
(B) Video making web-site

(C) Video softwafe

(D) E-mail

64. Junk E-mail is also called
(A) Spool =
(B) Spam
(C) Spoof

(D) Sniffer script

During Data Communicatio

O

0712/NG ~ GB/RCE - M

63. Y- R ?

(A) farfar Sraftn Jeamee
(B) Tafean afehr Jswrree
(C) ffea wien
(D) 3-9

64. e 3-Uel I HET ST &

(MW@

(B)
) #IF

L 2

5. Tl % G9NU % 9T Wiy B Iucrey

65. g
maximum and minimum,fre@ e i Frerd smafi 4 d T
range available on @m is eI R ?
known as Q
(A) Baud \' (A) fe
(B) Bandwidth (B) defrey
(C) Broadband () Tedve
(D) Band (D) s

W wE % o

Space for Rough Work
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HINDI LANGUAGE / f&=t strat
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66. W-m%mmw%aﬁ#mﬂw 71. ‘R % afm T 2
(®) )
© ?éam g (G) 5l
67. “foupt 1 vtz e & 2 i v T el
| A) e (A) T |
(B) e (B)ART
(C) e (C) wgus.
(D) v () w
68. ‘o FFE TR ETERR? | Hﬁ:ﬁ%ﬁa%
(A) T W
fBZWW. . B).ﬁz +anfas
(C) wew =R ) : + anf
() v & 3 O™t + s
69. ‘@ FhE YR T2 ? 74. ‘3 ! T geTee Hew @ 1
(A) T3t s Q (A) ﬁmq\mﬁam%l
(B) MR = . ¢ 0 (B) WgHR IR |
() s =i % (C) W gum IR |
(D) wfsefer =xis (D) TS I R |
70. ‘qofta’ § 3wl 75. oy w1z 3 e 1 v gam R 7
AT (A) &%
(B) W (B) T
© g (©) ufr
(D) 7™ (D) fareret
™ W ¥ g v
Space for Rough Work
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ENGLISH LANGUAGE/33ft sret

'76. Which among the following is not a
synonym of said when used in writing
dialogues ?

(A) asserted
(B) uttered
(C) informed

(D) calendarized

77. Find out the correctly spelt word from
the following : »

(A) Tommorrow
(B) . Tomorrow
- (C) Tommorow

(D) Tomorow

78. Choose the incorrect sentehge he
following : 6
(A) Breakfastis a@clock
(B) When do you have the dinner ?

(C) Have you had lunch yet ?

(D) Thedinner will be held at the Grand
hotel

79.. Pick out the incorrect plural from the
following : ;

(A) knife — knives
(B) elf = elves
(C) hand kerchief — hand kerchieves

(D) half - halves

80. Out of the four alternatives given,

e which can be

able, morbid propensity

2

‘ fythomania
., 0 kleptomania

(C) agromania

(D) nostomania

81. What meaning does the underlined
idiom convey in the following sentence ?
‘When I entered the house everything

was at sixes and sevens’.
(A) neat and tidy

(B) beautifully decorated
(C) in disorder or confusion

(D) well organised

W wd & g e
Space for Rough Work
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82.

83.

doing the cooping | look
after the gardén'. -
Pick outthe most appropriate prepositioh

to complete the above sentence.
(A) Besides

(B) Since

(C) Beside

(D) For

it rained a lot, we enjoyed

our holiday.

- Supply the"most approprij

~ 0712/NG - GB/RCE - M

84. There is little hope of his recovery.

What does the underlined adjective

mean in the above sentence ?
(A) not much (hardly any)
(B) some

(C) somegthough not much

| (D) h

.. O

Q\Cﬁmplete the following sentence by
adding correct preposition from the

given choices in the blank space.

conjunction from the foll 0 IR A
] Q The catjumped ____ the mantelpiece.
complete the above se : '
" % (A) into
(A) Despite ’&
(B) In spite of (B) in
(C) Because (C) onto
(D) Although (D) on
™ e & fore wm
Space for Rough Work
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GENERAL KNOWLEDGE

86. In which: State India has highest
Mbuntain peak ?
(A) Sikkim
(B) W. Bengal
(C) Uttarakhand
(D) Jammu & Kashmir

87. What is Tata Pani ?
(A) Water fall
(B) Mountain

0712/NG — GB/RCE =M

| {71
86. WA TEd I =i R Tsa A R 7

(A) Tafeem
(B) U. T
(C) STEs
(D) ST - R

g7. ‘M wE?

(A) T
(B) TETS

(C) Geothermal Energy Center (C)
(D) None of the above (D) i,
*
88. Why we always see only one part of 88.@?’“’7 3 5 yet TRl 1 s w
Moon ? lts because we & 9 e qan g ?
(A) Revolution and Rotation is 4 (A) 2 T ofr anfifen ifd o e @
different
(B) Revolution and Rotation ar& (B) e fa s anfifer wifr e St 2
(C) Revolution is faster th ¥ on  (C) 2Fr T anier R & A R
(D) Revolutionis sl Adtation (D) e e anfifer i & effefi 2
89. What is the colour of the Sky ? 89, AWM FT T FE ?
(A) Black (A) <RIt
(B) Blue (B) e
(C) White (C) wha
(D) Orange (D) Tt
% w1 % o wm
Space for Rough Work
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90.

91.

92,

93.

-.07-

In India which non-conventional
energy resource has highest potential ?
(A) Solar energy

(B) Tidal energy

(C) Wave energy -

(D) Geothermal energy

Who of the following was the last ruler
of Mouryan dynasty assassinated by
Pushyamitra Shunga ?

(A) Kunal
(B) Samprati

- (C) Brihadratha

(D) Dashra'tvha

Who of the following defeated
Harshavardhana in 618 = 19 A.D. ?

(A) Tailapa

(B) Narsinghavarman —|| :
Between whom %/ing the
Third Battle of F% t was fought in
1761 A.D. ?

(A) Mughal and Ahmed Shah Abdali
(B) Marathas and Ahmed Shah Abdali
(C) English and Ahmed Shah Abdali
(D) Sikhs and Ahmed Shah Abdali

(C) Ishanvarman

(D) Pulkeshin—1I ¢

0712/NG - GB/RCE - M

90. wra # R wrufer sl W = @

91.

L 2

e iy forad el st et € 7
(A) G 31t
(B) <o 3=t

~ (C) w3l
(D) gt i

W g o Sifom v Frefifaa § @ 9l
oT foreeht g gsafi g 3 <y off 7

(A) v .
(B) ‘i@
5O

' o

X 3
%\;s—wéﬁﬁur%ﬂaaﬁ@ﬁmﬁgﬁaﬁw

vt fowar ?
(A) de
(B) qtﬁagarf:rﬁaﬁa

(C) sumeiy
(D) geslim faeha

93. 1761 %. ¥ Fmafrfad § & frd wreive =1

IERE SR L

(A) TTT Tsi AW SFsarelt
(B) 703 UH ITEHIE el
(C) < U T_HeNTR reaTeht
(D) @ T srewews arsereht

W wE & forg wom
Space for Rough Work .
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94. Who of the following was the
Governor-General of India at the time
of the Revolt of 1857 ?

(A) Lord Dalhousie
(B) Lord Canning
(C) Lord Northbrooke
(D). Lord Lytton

95. Which of the following event took place
~ during the Viceroyalty of Lord Wavell ?

(A) Simla Conference
(B) Third Round Table Conference

(C) Quit India Movement
(D) Partition of India

96. Consider following statements :

. German silver contains 25% silver.
Il. Stainless steel contains 11.5%
chromium.

Ill. Alnico is used to make’pe@ i
magnet.’ '
(A) Statementlis coa% nts Il |

and Il are wro

(B) Statements | and*ll are correct,
statement |l is wrong

(C) Statements | and lil are correct,
statement |l is wrong

(D) Statementlis wrong, statements i
and lll are correct

0712/NG — GB/RCE - M:

94, 1857 % R ¥ wra Freferfea § 3 2
RE 1 T~ o1 ¢

(A) T SRS
(B) <& HFT

(C) e Treigeh
(D) =e freA

o5, d el ¥ e et i Pt
H Y P T s ¢
(A) Rmen
(B) T
©)

+(D)
.

oAl T forem I
. i R § 25% Rie a2 |
I Sem @a T 11.5% ST g
21 ‘
I, TEAfRT 3 3y ol ek S A
Hukdl
(A) T | R, ot 11 T |l Trerd €

IELISES

(B) e | 7ot |1 Tt &, Fo 1l Terd @
(C) T | ot Il &t &, e |l 7Terd @

(D) T | TTerd ®, e | e Tk

W & o fore s
Space for Rough Work
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97.  Anair bubble in water acts as a 97. & # IufTra T b Sergen e
(A) Convex mirror (A) T Fee g
(B) Convex lens (B) o 3wt A
(C) Concave mirror (C) s 37aad edoy
(D) Concave lens (D) % HA9dd o
98. Match List — | with List — Il and select 98. ot - 1w g - uﬁgﬁ%aas;ﬁur#rs
correct answer using following codes : 1 T | wE I Tatig AR
List -1 List—1I T T -1
a. Baftery 1. Electrical a. 1. e st
charger energy into i 3=t
mechanical energy C)
*
b. Battery 2. Mechanical energy \b.‘ézﬁ 2. gitF &t
' into electrical energy O e <
c. Washing 3. Chemical energy c. IRmM T 3. vamfE i
machine into electrical en Torea 3l
d. Dynamo 4. Electrical y d. S 4. gmsta
N e intoché&i ergy TR et
a bec -d\Q abecd
(A)431.':\' A 4 31 2
B) 4 3 2 1 B 4 3 2 1
C 1 23 4 € 1t 23 4
©) 3 4 2 1 D) 3 4 2 1
% & & fore womm

Space for Rough Work
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99. Which statement is wrong in case of
photosynthesis ?
(A) Chlorophyl acts as photosensitize
in photosynthesis
(B) Carbon dioxide converts into
carbohydrate
(C) Carbon convérts into carbon
dioxide
(D) Light energy converts into

chemical energy

- 0712/NG - GB/RCE - M

09, VNI TYSIUT H U1 HYF T ? 7

(A) W zéf‘\réﬂfrr #, serifea gww™
Gy ¥ 9§ % HE R

(B) FTT THATHIGE, FETEEQE |
yiafda ar e

(C)W&gmmﬁqﬁaﬁh

,(D)%y mmﬁqﬂaﬁa

Q%ﬁm%

100. A signature consumed 1mg @00 & ewER w0 A 1 Tm wEE-12

carbon-12, number of carbo&
L 2
present per signature isa ely

(Avogadro numb

(A) 6.023 x 1023 atoms
(B) 6 x 1020 atoms

(C) 5% 102" atoms

o AT 2 1 i e e TR
(G g = 6.023 x 1073)

(A) 6.023 x 1023 T

(B) 6 x 1020 w1

(C) 5 x 10?! vy

(D) 5 x 1019 T

(D) 5 x 1019 atoms

& wd & R

Space for Rough Work
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101. Who planed the structure of second five
year plan ?
(A) B.N. Gadgil
(B) B.K.R.V. Rao
(C) C.N. vakil
(D) P.C. Mahainobis

102.  According to census — 2011 which union
territory has highest literacy rate ?
(A) Delhi -
(B) Chandigarh
() Puducherry (Pondncherry)
(D) Lakshadweep

103. When was Planning Commission
established in India ?

(A) 1948
(B) 1949
(C) 1950
(D) 1951

104.  Which of the belo@atnons India
was not a members of ? :

(A) United Nations Organisatibh

-31-

0712/NG - GB/RCE - M

101, ot wererefar aiver 1 e vy S ke
o1 ?
(A) .. mefie
(B) .%.emh. g
(C) Ht.wq. ghta
(D) Wt ey

102. 2011 % ST & SR g Sezwfi

mﬁm&*{wmw&m%?
(A) ﬁwﬁ '

@;

v@mﬁmmmwﬁa%mwm?

(A) 1948
(B) 1949
(C) 1950
(D) 1951

104. Wﬁﬁﬁa@aﬁﬁﬁmwmm
TR 7

| (A) HgF gy
(B) G-15 (B) sf—15
(C) ASIAN (C) nfyam
(D) United Nations . (D) TsgHEm
W wr & forg v
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105. Which of the below is not a function of | 105, Frefafea & & PTG FE TR
money ? : =
(A) Stabilishment of value (A) He3 & TR
(B) Transfer of value - (B) Hed T TR
(C) Accumulation of value (C) ¢d 1 T )
(D) Measures of value (D) W = /IO
106. In which year the first International | 106. T mmﬁmmﬁm
Women Year was observed ? T o !
(A) 1962 AD' (A) ¥ 1962
(B) 1970 AD (B) ¥ 1970
(C) 1980 AD (©)
(D) 1975 AD . (D)\gNeTs
.
107. What is the name of Mixed Caste ? iy & a7l B @
(A) Cultured Caste A) TR ST
(B) Uncultured Caste 6\ (B) srgwHRE S
(C) Varn Shankar \Q (C) =t T
(D) None of the above * 0 (D) TR & & g T
108. Who was the corfigfa of’ British 108. 1757 % W % g@%wﬁr&m [T H
Army at the time& ie Plassey in g AT S7RyepT = AW o1 ?
1757 7 : :
(A) Vansitart (A) T
(B) General Smith (B) s for
©) Clive (C) T
(D) Cp. Holwell (D) %= gled
W W % g e
Space for Rough Work
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109.

110.

111.

In which year the llbert Bill was
Presented ?

(A) 1858 A.D.

(B) 1862 A.D.

(C) 1885 A.D.

(D) 1883 A.D.

Who was the following English man
visited Jahangir's court ?

(A) Mr. Kolbart

(B) Mr. Lo.re

(C) Cp. Howkins

(D) Larens .

In the context of Keshavanand Bharti
case which is unmatched ?
(i) FUndamental Rights can be amended

(i) Preamble is not a part of Constituti

(ili) Parliament can’t change tha %
structure of the Constitu @ '

0712/NG - GB/RCE - M

109.»,_»saaiﬁamu¥§aﬁmwm?'

(A) 1858 £.4q
(B) 186259
(C) 1885 %47
(D) 1883 ﬁ-F‘-I

110. Faferfed § @ 9 o i & wem A

AT o7 ?

(A) e Femd

(B) firex
(C) & i

(D

F IR et & ded o w ud
( 3‘7%? | '
(i) feres TR wviifire v o ey &

(ii) SIS Wig™ T 9 e €
(iif) méﬁm%waﬁﬁwnﬁ

(iv) Preambleis a part of stitution (iv) ST SR o O Y _
(v) Article 368 pygvitlesbnly (v) T 368 FaA HINET ik
amendment prdeedure IoE AT 8
(A @ (i) v) (A ) iy v)
(B) (i) (v v) B) (i) (v V)
- (© @ i () © @ (i) (iv)
(D) None of the above - (D) SR H e T
@ & % foru wom

Space for Rough Work
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112. What is correct about Constitutional .

crises ?

(i) State Cabinet dissolved
(i) State Legislature dissolved

(iii) if Lok Sabha is dissolved at that

(iv) Within a time of 2 months of

‘majority

time only Rajya Sabha will

approved the resolution by %

reorganization of Lok Sabha it

should be approved by majority

0712/NG - GB/RCE-M

112, it g % fwr § wd g ?

(i) T AfAvEA WA SR
(ii) T Rgrves S SR
(iif) =R e T fomfed @ o e
m@mmmﬁaﬁ % wgHe o
(|V)%W%g'ﬁa'—la€?ﬁm%‘§?‘ﬁﬁtﬂg
%a@a@mﬁaﬁmwﬁq
@ (v) Tgufy U@ wen W AfEmEves w

(v) The President can say for

reconsideration to the‘ca@ qfem ¥ Rre =% w3

such advice %
(vi) State Legislat@pended (vi) Ta Frermvea feifaa @ s @
CYRR OB U) (iif) (A @ () (i)
® O (v (vi) ® O (@) (vi)
© @ (i) (iv) © O _(iii) (V)
© 0 o o © 6 © o

w W FRmwm
Space for Rough Work
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113. Procedure estabhshed by law is
related to :
(i) Judicial Review
(i) Supremacy of the Parliament
(iii) Supremacy of the Constitution
(iv) Rule of Law -
(v) Special power given to the Judnc:ary
(i) Soverelgnty of Parliament

A 0 i) (v
B) @ (v) (vi)
€ 0 (i) )
(D) Gy (i) (iv)
114. What is correct about lmpeachment
against President ?

(i) It should be introduced as a
resolution

(i) It can be introduced in Lok Sabha
with the prior notice of 14 days
(i) It should be signed by Y,
~ members of Lok Sabha

(iv) It should be passed
majority from the both

(v) It should be pass
majority of the S

(vi). It can be int@either in Lok
Sabha or in Rajyh Sabha

A) ) (i) (V)

B) @) (v (vi)

(C) (i) (i) v)

(D)  None of the above

absolute

0712/NG - GB/RCE - M

113, fofl gm0 e e wifon 2

(i) =i g
(ii) F9g s vat=ar
(iii) ™ < gat=a
(iv) Tafer =1 s
(v) wwmf%maﬁmﬁ*ﬁwxﬁﬁr
(vi) qag Y m:ng?n :
G () B (1) (iv)
(B) (i) (iv) (vi)
(C) @) (i) (v)
(D) (i) (i) (iv)

114, m&m%ﬁﬁﬁm
T

SIS % &9 F greanfyd feen

(ify 7= 14 T 7 7 gam v ohwg

\ G form S e @
(iii) %@WW%/WW\TWWW -
g =ty

(iv) 72 31 g @ / gud & wia
B =IfRE

(v) %aﬁmﬁ%ﬁrﬁaa@aﬁmﬁa
BT AR

(vi) ua?ﬁwmmmmﬁgr\carﬁaﬁw
S HHAT R

A G0 (i) (v)

B @ (v (vi) .

C) Gi) (i) (v)

(D) 3R & § FE T

@ wrd & fore o
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115. What is written in the Constitution

about Parliament ?

(i) Parliament will consist of two
houses

(i) The first house will be Lok Sabha

(iiiy The second house will be Rajya
Sabha

(iv) All the above

IR0

® 0

© 6 G G

© O @ ) W

Which planet is largest plahet of solar

36 ~ 0712/NG-GB/RCE-M

115. g ¥ fav & e o w sfcafaa § 7
(i) Tug & & g

(if) T T AvHE et
(iii) e wea oo gnft

(iv) 3w ah
A O
(=) ()

© <-’O i) (iiy |
’Q G (i) ()

116. ro| YTENNEE mma@ﬁﬂ:m%?
system ? 2 I @
(A) Jupiter (A) Jeetd
(B) Saturn \Q' ®) 7
(C) Earth ) 0 (C) 7=
(D) Venus @ (D) T
117. In which canal Suez l is situated ? 117. & 7e frw dm # fom @ 7
(A) India | (A) YRE
(B) Egypt (B) fas
(C) Panama - (C) v
(D) S. Africa (D) . STHIH
% W & forg veam
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118. Which river is called as sorrow of
Bengal ?
(A) Ganga
(B) Yamuna
(C) Mahanadi

(D) Damodar

119. Which soil is called as Regur in India ? -
(A) Black soil
(B) Laterite
(C) Alluvial soil
(D) Sandy soil Q
g
120. anean

For which type of rainfa% ’
Region is fémou\Q .
(A) Conventiona&

-37-
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118. =Tel =1 Y TR T8 I HET AR ?

(A) T

(B) =T
(C) wemdr
(D) TR

19, Wwvﬁiﬁtm@w
g - G

. o ‘
(B) STz

(C) ~eirg frd
(D) sgam g

120. yAeTAmIa ﬁﬁﬁamﬁaﬁ#m
Tag e ?

(A) "
(B) Orographic (B) wddta
(C) Cyclonic (C) =it
(D) Sedimentary (D) sra@T
W ™ & o e

Space for Rough Work
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121, Which is not matched correctly . S Odt wE ¥ 7 gafa 7 :
1. Pryries — Grassland of N. America 1. Yafie - 3. emfe & o & fem
2. Pampas — South African Grassland 2. U - <féror anfer & gE % BEM
3. Downs — South American 3. TE - <. I & g & fed
Grassland
4. Velds - Australian Grassland 4. AvE - AT F UG F AW
(A) (1) (A) (1) @
-~ (B) 3) (B) (
o P
©) (@ @4)’
D) @& O(D) 2
122. Which of the Indian State surro 122, Ra ¥ wattees Jidl & o 9id ki @R ?
by highest State boundarie%
(A) Jharkhand ’\\Q (A) G
(B) Telangana (B) ¥R
(C) Chhattisgarh (C) =<l
(D) Assam (D) &=
@ wE % foru v |

Space for Rough Work
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123. At present new base year for whole
sale price_lndex is
(A) 2002-03
(B) 2003-04
(C) 2004-05
(D) 2005-06

124. Law of diminishing marginal utility is
used
(A) In the field of Consuﬁnption-

~ (B) In the field of ProdUction.

(C) In the field of Exchange

(D) In the field of DistribgtioQ s
et

Which are the IndUstri% centre
in this State ?

N

125.

Q\(B)mﬁﬂ% a3 7

0712/NG ~ GB/RCE-M

123, oHA 7 ot Yo guerish o forw 7 aum
L
(A) 2002-03
(B) 2003-04

(C) 2004-05
(D) 2005-06

124, €H1q :

(424

"gm:rﬁwm‘mﬁn

F a7 d

(C) fofma-s a3 1
(D) forawor & & o

125. Feefias 3 @ 2 a1 @ o st
ﬁm%‘;%?

(A) Urla and Siltar (A) T aen freram
(B) Borai (B) srg
(C) Sirgithi (C) Rrfirgh
(D) All of above (D) ST Tt
T & & 70 o

Space for Rough Work
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&; -40-
< ' .
CURRENT AFFAIRS gramiyed 7
126. S.L. Bhyrappa the popular novelist is 126. TH.TH. R, T R SumEs R
associated with which language ? T Y HEa ® 7
(A) Telugu (A) IT.
(B) Tamil (B) afiret
(C) Malyali (C)'.mﬁa
(D) Kannada (D) F=ret
127. Which of the following two states goes | 127. Fr & & T <1 T # 4 WEd 2017 A
for Assembly polls on 4th Feb. 2017 ? ﬁm:mm %gna §3ﬂ 27
(A) Goa and Uttarakhand
(B) Uttarakhand Aand ‘Manipur
(C) Manipur and Punjab
(D) Punjab and Goa
128. Jallikattu is related to
(A) Kathak Dance |
(B) Bull fight ®
(C) Kabbadi Q
(D) Karnatic Music M 0
129. The Minister Shri Galj rBisen | 120. T@TSE H v W MG AW F A
of M.P. who came f in this State gﬁﬁﬁﬁm{ﬁ@ﬁeﬁqﬂ.ﬁmﬂﬁm%?
is connects to which Department ? :
(A) Forest - (A) g
(B) Agriculture (B) FN
(C) Education - (C) faem
(D) Revenue (D) TS
@ wE % e e

Space for Rough Work
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130.  Which of the following is cofrect ?
(i) Dr. B.C.Roy Award was
instituted in 1976
(i) It is instituted by Government
of India
(iii) Dr. Puneet Gupta of this State
has got this award

(iv) ltis presented by President of

India
(A) (i) (i) (iii)
(B) (ii) (iii) (iv)

(C) (i) (iv) (7)
(D) (v) () (i)

131.
financial year will start on

(A) 27 February 2017
(B) 26 February 2017

C) 28 February 2017 4 0
D) None of the above %

Who is the

(
(

132.

The budget session of this State for this

I‘@vernor of

-41-
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130, A ddsmawadd?

(i) <. St O et = 1976
Tenfie Tk mam o

- (ii) 38 TR TR g v R
T

(ili) 38 TSy % . T e W @
wal g ga e

(iv) ¥& T % Tz gw s R
TR

(A) () (i i

(B) (i) (MNGv

(C) @ (i)
X <r(<y> (i (i)

\
1@@@%3@%5&%%‘3%%%
g ?

(A) 27 %=l 2017
(B) 26 W= 2017
(C) 28 wE=t 2017
(D) 3w § & ¢ 7

132, TTeTg ¥ T¢ TSAUTE H & ?

Meghalaya ?

(A) Takam Pario (A) ToFT iy

(B) Prema Khandu (B) Y aig

(C) P.B. Acharya (C) .5, s

(D) None of the above (D) 3wl & § ¢ et
W T % R s

Space for Rough Work
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133.

134.

135.

136.

What is the withdrawal limit from ATM

per day as an today ?

(A) Rs. 10,000
(B) Rs. 2,000
(C) Rs. 24,000

(D) None of the above

65t Miss Universe Competition was
held in

(A) Paris

(B) Venice

(C) Manila

(D) Singapore

Who won the Australian Tennis Open
Championship held recently ?

(A) Rafael Nadal
(B) Roger Federer
(C) Andey Murray
(D) Novak Djokovic

Who did not get@el Prize in

Physics for the year 2016 ?

2

(A) David J. Thouless.
(B) F. Duncan M. Haldane
(C) Bernard L. Feringa
(D) None of the above

@%
6Q |

42~ 0712/NG - GB/RCE - M
| 433 s Rl % orem, TRRE e & 9
Ferter ) € 0} 7

(A) 10,000 %.

(B) 2,000%.

(C) 24,000%.

(D) 3wt § & ig 7

65 i fira e SR el SRR
g off ?
(A) uf@
(B) afr

(©)
(D)
L 2

13! 5ﬁa@%\aa@%maﬁqﬁﬁﬁw&m
Eicik

(A) e ST

(B) TR F3T

(C) T gt

(D) ek Sehiferd

134.

136. B # @ fRd 2016 # sfifqes fogm & fog
et ToERR ST E gaT #
(A) e 3. o
(B) TH. T TH. TS
(C) sHfes T, Hiom
(D) 3u0H & & HI3 e

@ wd E R IEIC]
Space for Rough Work
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137. Which of the following is true about
H - 1B Visa ?
(A) ltisa non immigrant Visa

(B) It is under Immngra’uon and
Natlonahty Act

(C) It require applicable to be at least
holder of Bachelor degree

(D) ‘All of the above

138.  Who of the following got “Chakradhar

Award” for Music and Arts ?
(A) Samir Shukia

(B) Rajkamal Naik

(C) Shiva Kumar Tiwari
(D) Vinod Kumar Shukla

139. Kalma Barrage is built on which of the

following river ?

(A) Indravati

(B) Mahanadi

(C) Godavari

(D) None of the above o

140.
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137. ﬁmﬁ@aﬁ‘—lwqaﬁH— 1Ba“tsnawﬁﬁ

wE g ?

(A) I8 T T e} e &

(B) =& Yot w§ wdtaen 1fifem &
Safa R

(C) 34 1w 1ees =1 %9 @ %9 o
feift e € amawae 2

(D) 3wliad a=ft .

188. FeforRes & & f6d wifa vd wamw
THER QEHT JT BT 7 |
(A) T |
(B) T
(C)
+ (D)

Tt
RELER
©

@maﬁamﬁmﬁﬁamﬂm%?
(A) Tz

(B) wETd

(C) mMeEd

(D) 3Waa § 3 HiE 7

Who of the followj the | 140. Rm & ¥ 37 yrdr fpre 0 a1 ¥
administrative panxQ inistering aﬁmm%m%mmﬁ;ﬁm
day to day affairs of Beard of Cricket ¥ iyt T2 7
Control of India ?
(A) Diana Edulji (A) Team sgosit.
(B) Vinod Rai (B) ﬁqﬁ?-ﬁa
(C) Vikram Limaye (C) farm fommd
(D) Sourav Ganguly (D) HN& e
T wE % o o

Space for Rough Work
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% -44-
'KNOWLEDGE OF STATES TS AT qA
141. During the British Protectorate | 141. AiferereETel (1818 ~1830) # freferfad
(1818 — 1830) who of the following was # & P TU T 1 NuE quieee o ?
the first Superintendent of this state 7 .
(A) P. Vans Agnew (A) 0. o T
(B) Capt. Hunter (B) ¥ EX
(C) Mr. Wilkinson (©) . frefan
(D) Capt. Edmund (D) & TeHe
142. Towhich of the following event ishwari | 142. Freaferfaa 3 T & T T F T
Charan Shukla of‘.thi‘s state was 0 Y 97 ‘
‘associated ?
(A) Kandel Canal Satyagraha "A; FUIE TE UAUE
(B) Raipur Conspiracy Case ‘ %B).W ﬂ@'ﬁ e

~ (C) Raipur Dynamite Case (C) TAR THAHTEE Fd
(D) Chhuikhadan Peasant Moy, (D) gEaem fam L]

143. To which of the follow Qoient 143, i A s Fata femeg @ e
dynasty of this %@’ng,the ‘ ¥* ﬁ-;:;fﬁqf@a 3 @ g ST TIGTENT ]
puilder of RagiWpchan Temple e ,

' bé|oﬁged ? & p A ! |
(A) Nala (A) 7
(B) Pandu (B) uvg
(C) Sharabhpuriya (C) TRl
(D) Soma (D) ¥
W wE % oy v
Space for Rough Work
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144,

145,

" (C) Coal

146.

In which of the following year the

. 45~

Kalchuris established their power in
this state ?

(A) 995 A.D.
(B) 1000 A.D.
(C) 1010 A.D.
(D) 1015 A.D.

Largest deposits of which of the
following mmeral is avallable in this
state ?

(A) Ironore
(B) Dolomite

(D) Lime stone

Which of the following Industrial,

Development Centre does not exjsii
this state ?

*

(A) Industrial Developm%ge,

‘Urla, Raipur-

(B) Industrial De&'e t Centre,
Borai, Durg -
(C) Industrial Development Centre,
 Sirgitti, Bilaspur
(D) Industrial Development Centre,
Champa, Champa-Janjgir -

0712/NG ~ GB/RCE - M

144, ﬁwﬁr@aﬁﬁmaﬁw‘#m
TS # S0 g v <) 7

A) 995 %,
(B) 1000 %,
(C) 1010%.
(D) 1015 %,
145. 36 T & Frerforfen § @ frg wfe 3
ol WeRr -3

(A)
i (B)
Qﬁm
AT Yoo

6. T T § Fwafoifes & @ #war siehfies
o e rfierear 3 et & 7

(A) sfrenfies R s, s, TR
(B) shehfies famra 3, aived,
(©) shehies s 3, Recfred, fremrrge

(D) efrs Rrere F7F, wwT,
T~

T wTE % forg v
Space for Rough Work
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147, After formation of this state which ofthe | 147. 38 T3 % T4 & SrCICERRHETRIE LI TR
following political party has been I+l 9% Frefofaa o & e terhifoss 9
dominant so far in politics ? H IS @8 7

(A) Bhatatiya Janata Party (A) s Stan 9
(B) Indian National Congress (B) wref TR HiE
(C) Chhattisgarh Janata Congress (C) BrETg ST H
(D) Bahujan Samaj Party (D) wgsH A I
148. How many of the following members 148. wmﬁﬁwﬁﬁm’%ﬁaﬁﬁ@ﬁﬂﬁ |
- areelectedinthe Legislative Assembly e i an ® 7 ]
of this state ? *
(A) 90 (A) 90
(B) 95 - (B) 95 @
(C) 100 (C) @
* (D) 105 . (Dcf
. N
149. 'Which of the following is not included T & u@ﬁsﬁ-ﬁmﬁﬁ frefafgadw
in the natural divisions of this State ? gfafaadie ?
(A) East Baghelkhand Plateau (A) T TAreREE T TeR
(B) Mahanadi Basin (B) TR AR
(C) Dandakaranya Plateau OQ (C) TUeHITA i ISR
(D) Deccan Plateau % (D) @ 1 4R
150. On which of the Q river of this 150. 34 Usa 9 Prerfafea § @ fw 7 W
state the ,Minin&,, ulti purpose WWWW@H%?
irrigation project is situated ?
(A) Mahanadi (A) HETET
(B) Hasdo (B) Tw@
(C) Shivnath ©) ey
(D) Indravati (D) FEEd
@ % fom v

Space for Rough Work
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sET- A |
TmefrA TR W AR :  3W srferemaw afeh : 150
Time for marking answers : 3 Hours Maximum Marks : 150
e |
1. v v gfeR & fie e e -
1) et T A 1-30
2) Tifore ger Tk 31 -50
3) R HH TH 51 — 65
4) fe=lt W 66 — 75
5) siisf W 76 - 85
6) g FH 86 — 125 . @
7) GHETRE JH 126 — 140 0
8) TSI = M - » 141 - 150

o T 1 31 1 3 | T 150 T T S | ¢

S S A

‘Note :

1.

‘»

oA D

At % IR, & 7 OMR I ¥fie (31 ¥fie) W |

mmmﬁmmﬁm%mm@mﬁﬁl

et ot e 3 oot A w9 W Gy 1 T AR 2 |

OMR I ¥fie (arier ¥fte) 1 5w aﬁémmﬁ#ﬁmﬁmaﬁwmm
35 Aig a1 Ryeree ot U SR 7 98 @UE B 9 |

This Questions B(@wtains,, Parts —
1) Accounts RelatedMnowledge 1 -30
2) Mathematics and Logic 31 =50
3) Computer Related Knowledge 51 - 65
4) Hindi Language 66 — 75
5) English Language R 76 — 85
6) General Knowledge _ 86 — 125
7) Current Affairs 126 — 140
8) Knowledge of States - 141 - 150

Each questlon carries 1 mark. All questlons are compulsory.

Indicate your answers on the OMR Answer-Sheet provided.

14 mark will be deducted for each wrong answer. :

Use of any type of calculator or log table and mobile phone is prohibited.

While using Answer-Sheet care should be taken so that the Answer-Sheet does not.get
torn or spoﬂed due to folds and wrinkles.




